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Passage:

Fer: T fq M Terfer Pt TS g T Hedl & Wewt 3o IR AT fahedl BT TR Hiforg-

AR 3R AT 3 JraTarT & A B e T ¥ aee T 21 gafd ararrd & areAtl ¥ 391 et & eror g€ 21 qenfd gg vt wer A8 €1 @R % 3R W §AR ST-aR fam ft wer
MaeEHATsT B g el 8, AR F AR T & 2t &1

@R # 3 iR fata 36 & affifad 81 @R ik aiftica B wfe F AT ST BT 3T JTERT IEAT 9gd 31ART® 81 30 A A UH BeAT d1feY| 3Rpe Jet 01 3 376 AR sigel § b

Q.No: = 8T & 36 U TP 3o & 3R qgd PH I 81 A A A F U Pl 8, TP 370 ASAHT & P-BIoT 3R 2GR | 34d- 373 37K 38-g1 &1 & 31497 &1 &l 8l
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TR BT Wged/ AT B Theral BT T
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ATRY: T FARILmETET HraAr

Passage:

Fer: A Ry T Terier Y geaR g MY WA P T 3Td IaR arel el BT Tad Hiferg-

AR 3R AT 3 ARG & AAT BT GAT FH H INIEH 1 81 F@fy ardrard @Al § 3910 gl $ R gE )1 anfd gg vt HRem T8 #1 WMUR & YR W gAR SIE-ar T W wer
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Q.No: @1 BT & 3P U JBHH IS P AW Ggd BH 3T 1 ST A A F FH P 8§, ITP6 3707 AT & PH-P1oT 3R AGER | 3a- 373 3R =8-3R &7 & 3197 &7 T&ar 8l

o 0w »

ATIRT P SIS 311 ATT FTT BT T Mg | 3 7 FR1er 819 Y 3maeaasar & 3R 7w 3 H afE 317 18T THaH g1 € a1 S Braar WY S 81, I8 WIed? 39 HeRHT A8 arfgv] Jar b
FrepTet o ST o gfEHTRt 81 BRaR g1er-iR BIg & A Tl T el SATuR ¥ AR GE-AHI BT 9EoR §AR Sia BT TR Fa a1 &1 gAR f3eel Wad, TG Sgifeiet, Wes g, hteedd e
B 3nf3a €

IufarT MRl & HTAR S BT BT T4 HISTG-
ST BT ARMETE 3R AT WHIT FT 8T AT 37 7 R 8 $t 3maadmar & 3ik T o 1 Hi
R Y R - Y g SR St T e o €
AR # 3T 3 feraa 2 § wftifaa §) @ sik aiftea S @iy F AT @Ot B et 3Rt AT 3 TE 21
IR & 3R TR 89N SIF-aR T W wel-Toet &1 SR 8 21 &6 Waar o7 AIies 21

Passage:

Fer: AT g MY Terier P TGN I T HeAT P ARt 3o IR AT bl BT TR Hiforg-

AR 3R AT 7 ARG & AT ST G T H e 1 81 Jafd amarard & 9El § 3970 gal & BRI §E 21 T gg eumt W T8 €1 AR % 3MUR W §AR Sb-ar o Wt hel
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TRAHATT B g Bl B, ATIR F TA- R W & Bt 1
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o 0O w >
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Passage: __
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Q-NO i graT # 39 TR AW FoT AR T B W &1 SN AN A § I TR &, I 70 ASAT I BT 3R 2R N 364 3 3R 3r-gY BT AW 39T 1 3@

o 0 W P>
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& anfira €

IORYERT TN B AR, i @A , 3P 3T ASTAT &S BIH-Bre 3R FaeR A 3fed- 3R 3R 35-gX B1 & 37627 &7 &dT 2
e { U P

frafa ¥ S &

STP~aR faumT A 9 o &

3 F I B

Passage:
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it et e -
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Q.No: 5
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o N0 w P

Q.No: 6

o0 w >

Q.No: 7

e o & 3wfa dferral 3 varfdar @7 A aarse-
U g v
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wgredt auf

e ua

Passage:
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S
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it et R -
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T WSt Mt S,
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Passage:

f¥éer: Praaier B vgw Y@ MY U & HY 3fed IR aTel fabedt @1 T BIfeTg-

Pt depgt wa -y

W TR TR A R,

el TS Ml S,

ST QAT T B TR}

Pt Bl 3 o1 |

ieaar & ge e,

e T3 faem wal 3,

e Y o= |
QNo: 8 Pt 3 gl T AT

WepeT fiepe HeT PR

BgP, e o T 8 T,

2Rf Foar § TR ;

foe aftal & qet 3 g7

T HY & T TR,

g e e 4,
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A ufl, sateEr
B wigper, e
C ‘?ﬁar,aﬁaré’r
D | e, &g

Not Answered

‘In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical orde

P. The recent acute water shortage in Chennai has fuelled concerns that a potential water crisis is awaiting India's large cities.

QNo: 9 Q. However, businesses in the city, like the vibrant auto industry, must find their own ways to deal with the crisis.

R. A train is now meeting the city's public needs by ferrying water every day from nearby Vellore.

S. Tamil Nadu's capital city did impose water cuts from June to conserve resources, but a prolonged dry spell caused its four main reservoirs to run dry.
A PSRQ
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B QSPR
C SPQR
D PQRS

In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and choose the option tha

P. The house where they stopped was very odd indeed.
Q.No: 10
Q. It was made of red and yellow bricks and it stood on great posts sunk deep into the ground.

R. Opening the white door that fairly shone, it was so clean, they were in the kitchen.

S. Such a kitchen it was, so cosy and so quaint!

A SQRP
B SPRQ
c PSQR
D PQRS

‘Q.No: 11 | Select the correctly spelt word.

A Persivarence
‘ B Persiverance

C Perseverance
‘D Peresevariance

The sentences in the paragraph have been jumbled. Rearrange the following sentences into a meaningful sequence.
A. Not all social issues are permanent in society.

Q.No: 12| B. There are many such social issues which existed earlier.
C. But with changing mind-sets and awareness among the citizens, many have been abolished.

D. For instance, Sati system was one such social issue which was actually cruelty against women.

A CcDAB
B CcBDA
c ABCD
D ACDB

In the question below, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and choose the option tha
P. The only thing he could do was to go and talk to Mr. Tonks, whose big elephant, Jumbo, was tied by the leg to a great tree.
Q.No: 13| Q. Jumbo was too big to go in a cage.
R. He was out in the field, and was always pleased to see Jimmy.

S. He lifted the boy on top of his huge neck, and gently blew his hair up straight - a favourite trick of old Jumbo's.

A PQRS
'B SPRQ
c ‘SQRP
D PQSR
‘ There are three sizes of a circular hooplaring in the school sports store. Circumference of the smaller Thel TUEY TER & did TR & gaTdR gus
one is 13.2 units and that of the larger one is 17.6 units. Also the circumference of middle one is sum .\qﬁﬁ: . TS MNP
Q.No: 14| ofhalf the circumference of smaller and that of larger ring. Find the sum of radii of all the rings. &1 ‘ 176 mmé’rzﬁﬁaﬁﬁwﬁ
(Take w =22/7) areft Rt i Bt &1 @ A fr 5w
\A 8.95 units /8.95 551
7.35 units 7.35 318
6.25 units 6.25 3H1E
4.30 units |4.30 g@T¢
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|Q.No: 16

B

|D

Q.No: 17

A rectangle is cut into 41 pieces of which 15 are small rectangles, 10 are squares and 16 are triangles. Given

that area of 1 square = 1/2 * area of one small rectangle = 4 * area of one triangle. If side of square is 2.5cm,

then area of the big rectangleis ____.
200 sqcm
250 sqcm
275 sqcm

300 sqcm

par + xyz is what type of polynomial?
None of the given options
Binomial

Monomial

Trimonial

Zeroes of a polynomial can be expressed graphically. Number of zeroes of polynomial is equal to number of
points where the graph of polynomial is:

Intersects y-axis
None of the given options
Intersects y-axis or x-axis

Intersects x-axis

Total cost of 7 pens and 4 books is Rs 232 and that of 4 pens and 7 books is Rs 241. Find the cost of
one book.

Rs 23
Rs 21
Rs 20

Rs 19

The perimeter of a rectangular table is 48 cm. If the area of the rectangular table is 128 em?,
then what will be the length of the table?

18 cm

10 cm

16 cm

12 cm

| 200 f A
| 250 @if I
275 @f Idt
| 300 wf wft

T 3TId BY 41 Zhsl K Blel 1T & 5 § 15 8IS 31%
TP BIC ITTd BT &% = 4 * TP S &1 &%d g1

mnﬂmq@fﬁmﬁaﬁiﬁm}

‘pqr+xyzmmaﬂ€l§qz'€?
o e Rl 3 2 2 Y

o
THTERT
| e

% TgE 3 SR P A GRT S T S W #1

PIEH

| y-37ef Y Brear §

| g g et & @ B Tl

y-318f AT x-3181 BT Brear &

X~-31&f I Fredr §

7 wemt 3R 4 fearal &1 $a @rd 232 %. € a1 4

23%.
‘21 %.
‘20 3.

l19%.

T 3AATGR <ad BT URATT 48 Jt €1 A 3maaras

|18 3
|10 ¥R
16 It
\uaﬁ’r

A mathematics question paper has 50 questions. If 20 questions consume 2 minutes 30 seconds each and the | TIfUd & T& Wed U3 § 50 Wed €1 IS UAF 20 WAl BT
% 1 firfe 30 s o1 §9T @ 8, df 77 U BT e A

rest take 1 minute 30 seconds each, then total time of the paper is estimated to be
95 minutes
84 minutes
38 minutes

57 minutes

The area of a trapezium is T times of the area of a circle whose radius is 140 cm. The height of the
trapezium is 154 cm and sum of parallel sides of the trapezium is 320 cm, then what is the value of T?

0.3
0.5
0.4

0.2

95 fime
84 fir
38 fir
|57 firre

mnﬂmqﬁffmﬁﬁi?&fﬁaﬁ

TR TS BT Fea 154 Wit § 3R wea afsr S\

0.3
0.5
0.4

0.2
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‘Q.No: 22 | Choose the correct pair of numbers, whose sum is divisible by 13.

A 755,353

B 3456,492

c 2838, 3748

D 14103, 45268

Q.No: 23 Denis has 20789 unread mails from which 7652 are meant to be deleted while rest of them are important. If
he finds that out of 7652 mails, 2340 mails are actually important, then find the number of important mails.

A 12407 mails

B 15477 mails

c 16407 mails

D 13137 mails

FEaTsi &1 a8 FE g g, et ammea 13 9§ e
755,353

3456,492

2838, 3748

14103, 45268

5T & 9y 20789 3fda (unread) A & S H F 76
2340 We IRad N Hgwqui €, a Aecayof Aal B §@m 3

12407 ¥

15477 ¥
116407 A&
113137 ¥

Price of different items in a shop is given below. Th gpH &I o= aegall B Hra A § TS 7
Ttem Quantity | Price (in rupees) TEq | ATTFAA | ETH)
Book 10 850 10 350
Bag 3 2800 A .
Lunch box | 32 1350 o B 2800
Q.No: 24 Bottle 12 1020 e 3 1280
P 20 00
= ! prem— 12 1020
Pritam buys 3 books, 4 lunch boxes, 5 pens, 1 bottle and 1 bag and gives total worth kil 20 100
of Rs. 1000 notes to the shopkeeper. How much amount will the shopkeeper return to
him? WiaH 3 IR, 4 @9 aiaw, 5 Had, 1 dad 3R 1 37 @dfedr 8 3R gEHeR 3 5d 1
A Rs. 125 125 39
B Rs. 200 1200 ¥
c Rs. 175 | 175 om
D Rs. 225 225 0

Some packages were given to two delivery agents in the ratio 9:14. When 6 packages were delivered by each

‘Q'NO: 25 of them, the respective ratio became 7:12. Find the total number of packages given to them.
A 69
B 54
c a2
D 23

If sum of 23/2 and 18/3is 'A". difference of 129/15 and 48'5 is 'B' and product of 15/2 and 20/3 is 'C'.

Q:No: 26|y what is the value of 6A +2C - B19%2
A 260
B 206
C 204
D 240

Time given to complete an assignment was 2 days. On submitting late by one hour, student gets one day
Q.No: 27 suspension and 2 marks deduction. If 2 students submit their assignments 13 hours and 8 hours late
| respectively, then combined sum of marks deducted is equal to __?

A 71
B 31
c 81
D 42

‘Q.No: 28 | If the discriminant of a quadratic polynomial, D = 0, then the polynomial has:

A two real and equal roots

PB U1, < FIROT Toie B 9:14 & 3uid ¥ Ry g &
T Y, 3% g MY Yot BT P W A B

69
54
42
23

‘ fe 23/2 3 18/3 FT ARG 'A' §, 12915 AR
| 2.aV 6A + 2C — B0 & ATH Tl &7

|260

|206

204

1240

T BRI B [ FA & faw 2 T & ww & mw am <
ST & 3R 2 35y B wEld B St 21 3 & fKamedf
TG ANTHA P R 2

71
31
81
42

‘uﬁ: o fguTd ague @1 fafdeday (discriminant), D =
3 arfae 3R w9 e
\
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Q.No: 29 (4n)*is divided by m. Then. '(nT/“—n)—iS equal to

A

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

| no roots
imaginary roots

two real and unequal roots

The product of n and n*is 64 and the same result is obtained when

+2m)

N & ® »H

The sum of the digits of a two-digit number is 4 more than the excess of the units digit over the ten’s digit. If

the product of the digits is 16, find the number.
82
44
32
28

In each of I, II, III and 1V, three sides of a triangle are given. Choose the INCORRECT option.

1) 0.248 cm, 0.00124 m, 0.0248 mm

II) 0.124 cm, 0.00124 m, 1.24 mm

III) 0.124 cm, 0.0124 m, 0.00124 mm

1V) 0.124 cm, 0.000124 m, 0.0248 mm

II and III both form equilateral triangles
Only II form equilateral triangle

III and IV both form scalene triangles

I form a scalene triangle

Age limits and vaccine slot availability are given in the table below:

AGE SLOTS AVAILABLE
18 - 44 3846500
45-100 | 4986000

If both the age limit slots keep on decreasing by 10% everyday, then total sum of slots left for age 18-100

after 2 days are

4019431
3547540
7154325
15014741

The length of the side of cube was increased by 200%, 100% and 100% to obtain length, breadth and height

|ofa cuboid. Then volume of cuboid becomes:
‘ 2 times

12 times

6 times

4 times

Solve the following equations for x.

a(x+y)-cz=a(-x+vy+2)

| P o T

‘Wﬂﬁ?ﬁq‘(—r{

‘a‘rmﬁmsﬁ?mﬁq@a

113ﬁTn33?f31'U1FTW 64 %3?"{‘3!3(4{1)33#:
(n*+2m)

Fﬂﬁmﬁﬂmmﬂwwaﬁmﬁlﬁﬁiﬁﬁr1

4

8

6

|2

3 3Pt Y Teb HEAT & 37! BT AN & &5 37F F HTE 3
By

82
44
32
28

mmawqﬁﬁmﬁzﬁf?ﬁaﬁ
L 11, HI 3R IV % & 7R & 1o fie B dia g & r
1) 0.248 3t , 0.00124 Hiew, 0.0248 firdt
1I) 0.124 ¥f, 0.00124 W, 1.24fH
II1) 0.124 ¥+, 0.0124 Hiew, 0.00124 firft
1V) 0.124 31, 0.000124 #ie, 0.0248 it
11 31 XXX QA wwarg oyt aema &

Fae TT SwaTg Foget aar &
111 3R IV @A fawwarg gt s &
1 firwvrarg Fngst w2

A & 7 arferet ¥ 3mg HiAr 3R daRi 7 WA H 3uden

g EACE R

18 - 44 3846500
45-100 | 4986000

T2 2 A 3y T are wAre § ulifA 10% v BT B
100 of ¥ 3y & AT T2 g FAe BT FoT AN e &M

4019431
3547540
7154325
5014741

M B waTE, =ieTS 3R FArE wra FRA F fAv, ' b g
100% 3R 100% a31¢ SR @1 A T BT 3779ad & 5

27w
12 7
6T
47qm

x ¥ AT &t &

a(x+y)-cz=a(-x+y+2)
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A z(a+c)
2a
z(a+y)
B 2c
y(a+c)
¢ 2a
z(a+c)
D 2c
There is a APQR in which 2P+ 2£Q =145% and £R +22Q = 180°. What relation
could satisfy the given conditions?
I: PR = PQ
.No: 35
Q II: PR > PQ
III: PR < PQ
IV: PR = QR
A I, III and IV
II and IV
Only III
D Only I1
Q.No: 36 A sum of Rs.312 was divided among 100 boys and girls in such a way that each boy gets Rs. 3.60 and
U each girl Rs.2.40. The number of girls is?
A 35
B 40
c 60
) 65
The radius of the base and height of a cylinder is 14 cm and 5 cm respectively. What will be the curved surface
Q.No: 37 ;
area of the cylinder?
A 650 cm?
B 440 cm?
‘c 2345 cm?
‘ D 450 cm?

‘Q.No: 38 Which of the following is the numerical coefficient of -7%xy?

A
B
c
D

7‘:(y
49

-49
| 7

Q.No: 39| The coefficient of x in 10x?+15x-11 is:

A
B
c

11
9
10

IV: PR = QR

z(a+c)
2a

z(a+y)
2c

y(a+c)
2a

z{a+c)
2c

THAPQR &, Foa# P+Q =145 2R +22
71§ 2Tl Y X BT Thal 87

I: PR = PQ

‘11: PR > PQ

III: PR < PQ

| i, III 3R IV
II 3R IV
Faer IIT
Fae 11

mwaaq‘tggfﬁmﬁaﬁzﬁm}

100 et 3R aefdar & St 312 sud &I fr g8
TG BT 2.40 ITY e € | oTefdal Fr doar &2
35

40

|60
|65

T JoF & AR B B 3R A wAer 14 I AR !

\ 650 2

440 T2

‘ 2345 @i

450

mmaq‘tg;:fffsmﬁa\‘rfﬁm]

frtafad 5 @ iF-wr - 72xy #1 dEe
y

xy
a9

-a9
7

mm-‘anﬁﬁ'mﬁlaﬁzﬁmﬂ
10x2+15x-11 H x BT TUI® ¢

11
9
10
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6 years ago, mother’s age was 18 years more than the son’s age. If the sum of their present ages is 30, what

Q-No: 40 was the age of the mother 6 years back? & o e T <BY SR O B AL 18 7 et R
‘A 36 years ‘36 EL
B 30 years 30 af
(o} 18 years 18 T§
|D 32 years ‘32?1#
Choose the correct number that lie between both the intervals given: I e W1 BT T Do Y Gy M7 QA steRret & e
Q.No: 41
6/5 to 19/3 and -25/6 to 18/7. 6/5 ¥ 19/3 3R -25/6 ¥ 18/7
A 55/9 |s5/9
B -29/7 -29/7
c 17/8 17/8
D 26/5 26/5
19 ‘
‘Q.No:42 If7x+2y=10and2x+5y=?,thenfindxandy. ‘?Iﬁ'7x+2y=10 sk 2x+5y=12—9 2. ar
=2 11
A 2" 2 ‘ 2" 2
3 3
B 1, 3 1, 3
5 S5
C 1, > ‘ 1, 3
1 1
D Py 2 ‘ 7 2
In the given circle. O is the center of the circle such that ZCOA=40°, gL ged #. 0 59 YebR Jod CTASC
then find the value of £ZCBA ? Y 2CBA FTATT AT HIFSRT
’ A
Q.No: 43 B ".l"" . 4!====’>'
4 _Q
[
C
A 45° 45°
‘B 35° 35°
c 25¢ : 7 25°
D 20° 20°

‘Q.No: 44 ‘ P, Q and R are integers satisfying the equations P + Q = 12, Q + R = 18 and P + R = 24, Find their product. P, Q3RR, §H&RUIP + Q = 12, Q + R = 18 3R |

A 405 405

B 243 |243

c 390 390

D 567 567

‘Q.No: 45 | A polynomial of degree n has: ‘mﬁ n % ¥gue #:

A At most n zeroes fIHan n TF (zeroes) BT 7
|B More than n zeroes ‘ n ¥ 3fAF RF (zeroes) TaT &

‘ C Only one zeroes ‘ Fael TP P (zeroes) Bar ¥

‘ D At least n zeroes ‘?EW# FH n YF (zeroes) BT d
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| Q.No: 46  Choose the correct option, If A = 2P, B = 6P and C = 5P. \aéﬁmzmwzﬁﬁq, aE A = 2P, B = 6P 3R C

A (AxB)+(CxA)=(BxC)-2A2 (AxB)+(CxA)=(BxC)-2A2

B (AxB)-(CxA)=(BxC)+2A2 ‘(AxB)-(CxA):(BxC)+2A2

\c (AxB)-(CxA)=(BxC)-2A2 ‘(AxB)-(CxA):(BxC)-ZAZ

\D (A x B)+ (CxA)=(BxC)+2A2 ‘(AxB)+(CxA)=(BxC)+2A2
‘Q.No: 47 | The number of solutions of the system of linear equations 5x + 7y = 3 and 15x + 21y = 24 is IGH THIGROT 5x + 7y = 33R 15x + 21y =24 &
‘A © ©

B 1 1

c 2 2

D 0 0

QNo: 48 e e the e, P he ares of park. T AP OTET o s e o s s e 120 e e 90 e 1
A 3846 sqm 3846 af X 7

B 5096 sqm 5096 aif TR

c 6236 sqm 6236 a1f Titex

D 4096 sqm 4096 T Hlex

A teacher assigned a work to a student to
complete it by __ pm. Students started
Q.No: 49 work at 10: 30 am and worked for 6 hours | T& e ¥ 7@ faeneff #1 weaTe__ a1 a G0 Be7 & foig U e Wi faemelf 7 qafe 10:30 a1 3 % far 31k 6 ¢ 45 fife a@
45 minutes due to which he completed the
work 20 minutes before the actual time.

A 6:15 6:15
5:55 5:55
(o} 5:35 5:35
D 6:05 6:05
‘ Q.No: 50 What can be multiplied to the sum of fractions % and g_ to obtain the fraction 6—:? fareeT 5?5 qIcd XA o Toi T, fore ?anwﬁ.
18 18
A 5 s
20 20
B 3 3
1_5 15
c 4 P
3 2
D 17 17
; ‘ If volume of a spherical ball is 38808 cubic unit. then it's surface area is e v IMATRR 3 FT A 38808 A 36
Q.No: 51 approximately equal to ?(Take n =22/7) WIR (e =22/7 )
A 6742 sq. Units 6742 af 378
B 19261 sq. Units 9261 T 5HrE
[ 5544 sq. Units 5544 3 sH1$
D 1848 sq. Units 1848 aif 531
mueawqgfﬁmﬁaﬁa?raﬂ
. f = w2 . = 2 * F,
Q.No: 52 Zeroes of p(x) = x*- 125 are: p(x) = x> 125 Yo I g:
A 13V3 13V3
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B

Q.No: 53

Q.No: 55

Q.No: 57

| None of the given options | i gy & & Y T

n & Tf A |x| &1 FFART A @ BIGT

Find the approximate value of |x| in terms of n:

0.25x + 6.02n + (0.34n - 2.32x) = 0.62n - 6.23x - {4.20x + 2.56n - (5.87x - 9.23n)}
0.25x + 6.02n + (0.34n - 2.32x) = 0.62n - 6.2

3n/2 |3n/2
7n 7n
2n 2n
7n/3 |7n/3

The circumference of a circle and the perimeter of a rectangle is equal. The sides of the rectangle are 35 cm

and 42 cm. What is the area of the circle (in square cm)? ik, g Eal K ‘

676.8 1676.8
456.5 456.5
698.5 698.5
1,886.5 1,886.5

Following table represents the monthly income and monthly expenditure of four employees of a company.

;ﬁﬂﬁ@amﬁmwm%mmﬁﬁﬁqﬁmm

Employee | Monthly income (in | Monthly expenditur
rupees) (in rupees) Fall | AT EERA) | ARTag @R
A 28000 18400 A 28000 18400
B 20000 14400 B 20000 14400
C 26400 12000 C 26400 12000
D 16000 14000 D 16000 14000

Respective ratio of monthly income of B and D together to the monthly savings of A and C together is same | g T2 B 3R D &7 W1 31 920 U6 @ A 3R C BT m
as the respective ratio of ___.
1. A &t Wi 3ma 31k D & wifds =l

I1. B &t "% & 3R A &1 91 g9d |

II1. A Y AT gad 3iR C $Y ATl qed|

I. Monthly income of A to monthly expenditure of D.
II. Monthly expenditure of B to monthly savings of A.

III. Monthly savings of A to monthly savings of C.
I, I 3R 111 ¥ 3N Rew % @1 J81 e d 7 a1 &

Which among I, II and III correctly fills the blank?

Only |t 1

Both I and II I 3R II At

Only II Fae 11

Only 111 | et 111

The zeroes of the quadratic polynomial x? + 26x + 118 are: feerd d8UG x2 + 26x + 118 %W%
one positive and one negative TS YARHE 3R TP KUTHG
‘ both positive MY YATHS

both negative QY HOTTHS

both equal QFT W

‘N' small cubes are formed after melting a large hollow cuboid of dimension 18

cm * 15 cm * 12 cm with thickness 3 cm. If side of each small cube is 1.5 cm, | 3 34t A1 18 I+t * 15 It * 12 A} & 39 1o TH I WAl TAM B fee & arg 'N'
then find the value of 'N'.

824 824

1012 1012

759 759

768 768
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‘Q.No: 58

Q.No: 59

'B

|D

Q.No: 60

Q.No: 63

mnewq?qgfﬁ'mqﬁaﬁtﬁrar]

The ratio of measure of an angle of a regular octagon to the measure of its exterior angle is: TP HY 3RS F UE PIVT & HIY P, TP qTa PIoT &6 0
7:2 7:2
3:2 3:2
3:1 3:1
2:5 2:5
A 20 years old person weighs 42Kg and a 50 years old person weighs 64Kg. If weight of 40 years old person is | 20 aftfa =fer @1 7w 42 fbur 3Rk 50 affa zafa @1
the difference between the weight of 50 years old person and thrice the weight of 20 years old person, then 20 aff <afart & a9 b A AT & G BT R &, A 2
the difference between the weight of 20 years old and that of 40 years old will be grams. T g
40000 40000
30000 130000
20000 20000
10000 '10000
The diagonal of a rectangular field is 15 m and its area is 108 m2. What is the cost of fencing the .
field at rupees 50.50 per m? Wﬂﬁmwmw 15 e 8 MR g 4
\
Rs.2222 12222 7
Rs.2121 2121 ¥R
Rs.1919 11919 T
Rs.2020 2020 31
e el et of 20 et o, 7980wl Sl 8 o 2 500 e, e e
each to a customer, then the retailer earns more than the whole seller. 12 R AT Gy N ST e S T SR 2 S
Rs. 14364 14,364 3R
Rs. 4788 4788 ¥W
Rs. 19152 19,152 T
Rs. 23940 23,940 T0
If :(‘;(::—-66 = z: :: findx :(;(x+—(iﬁ = ::_:g'xm aﬁl
1 ‘ 1
4 B ‘ 4
2 b U ‘ 2
3 3
A square garden has two roads passing through its middle, both parallel to its sides. Each side of
‘ the square is 60 m in length and the width of the roads is 10 m. What is the cost of grassing the v anfeR @i # < Feth g 7e A 2R Tovd
garden at the rate of Rs.30 per m?? w5 #1910 A 81 30 7 o 7 A
60
60
10
10
Rs. 60000 60000 BT
Rs. 500 500 Hu
Rs. 67800 67800 B9
Rs. 75000 75000 BT
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Q.No: 69

Q.No: 70

Length and breadth of a basketball court are 50m and 20m respectively. If the same court undergoes
expansion of 10 m in both length and breadth every 4 years, then after 12 years, the area of court will be
sq.m?

18 x 10?
28 x 102
40 % 102
72 % 102

Which of the following is a constant polynomial?
12
6x+3

3x+9

4x?

The degree of the constant polynomial is:

3

0
1
2

A circle and rectangle have same perimeter. The side of rectangle are 18 cm and 13 cm. The area of the circle
is:

916 % cm?
916 mcm?

961 cm®
n

961 mem?

What is the zeros of the polynomial p(y) = cy+d?

d/c

If componendo and dividendo of a proportion are 433/153 = 849/120 and 127/153 = 609/120 respectively,
then find the correct proportion.

729:153 :: 280:120
| 120:153 :: 729:280
433:153 :: 849:120
280:153 :: 729:120

|
One of the linear factors of 3x2 + 10x + 8 is:

(x-3)
(x+1)
(x+2)
(x-2)

ot grhedial BIE Y Mg 31R TeTs HAN: 50 Hie :
BT o grar €, & 12 auf & §1g , B B Sawe

‘18 x 10?
128 x10?
40 x 10
172 % 10

Fefefea & & B a1 v f8R 9gue 82
12
6x+3

3x+9

4x2

‘@Ti’nﬁ 9guz (constant polynomial) &1 =7d &:

T ga 3R 31ad & IRATT FHE &1 37ad B YT 18 JH

916 MG JAT
916 T AT AT

961 T AHT

k1

961 AT AT

TEUR p(y) = cy+d BT D T 82
d/c

-d

-d/c

-c

I T QHTZATT BT ArTgard 3R 3Rt Jurd BAe: 433/1
729:153 :: 280:120
120:153 :: 729:280
433:153 :: 849:120
280:153 :: 729:120

3x2 + 10x + 8 & RGP YOGS A

(x-3)
(x+1)
(x+2)
(x-2)
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Q.No: 71| If one root of the quadratic polynomial x? + 11x + k is 5, then the value of k is: nﬁi%maaguaxu 11x + k DT Uh ¥
A 25 25
B 35 35
c 24 24
D 30 30
Constru.ct a number those digits at thousandth, hundredth, tens ar?d ones place are 2n ,n, (n-1) and (n-2) T v B T B oy e 3i T, e, < 3
Q.No: 72 re‘spectlvely. Here, n is an even number and number at ones place is three less than the second smallest odd 2 3R TTE % o R T Y R B pTe
prime number.
A 8432 8432
B 8342 8342
‘ C 12842 12842
D 8963 |8963
Q.No: 73 ig‘ e_fgi,;?j%im(;;\f/;7) + W) P & HIeT & folT 2(P2— 2P)YVP = (3PVP /7)
A 4 a
B 7 7
c 6 6
D 2 2
mmaw@ﬁmﬁﬁaﬁ
Q.No: 74 The cost of onelpen and two books together is Rs. 70. The cost of three pens and nine books together is Rs. Tb Helq ﬁ?ag&lﬁmw |1 qeg 70 %. Bl ek
300. Find the difference between the cost of a book and a pen. F I FT 3R TG BISIg
A Rs. 30 |30%.
B Rs. 10 |10%.
|C Rs. 5 5%
D Rs. 20 20%.
!Q,No: 75 ‘tl)'z;ews;euer: fr:eﬂll?g?tigi;i g:’aat Evl\:;gfrl;: number is 54 less than the number. What is the difference 2 3it aTeh W 8 3l T A WM @ 54 B R, A
A Data inadequate 21T A &
B 9 I
c 2 P Y 12
D 6 . 6
‘ Q.No: 76  Which of the following is not a constant polynomial? ﬁﬁfﬁﬁ?ﬁﬁ ¥ B 1 7h fRR 9gue T8 2?2

‘ A | V121

B '8

‘c 92

D 6x+11

Q.No: 77 The difference between the present ages of Arun and Deepak is 14 years. Seven years ago the ratio of
I their ages was 5 : 7 respectively. What is Deepak’s present age?

A 63 years.

‘ B 49 years.

Cc 56 years.

‘ D 42 years.

V121
8
92

6x+11

‘maﬁ??ﬁmzﬁaﬁmmmmmaﬁélw

63 ad
a9 ad
56 a1
az2ad
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‘Q No: 78 Diagonals of a parallelogram ABCD are 16 m and 12 m respectively. If one side is 10 m, then find the area of | T& WM Igdst ABCD & fawof wwar: 16 e 3R 1

parallelogram ABCD. HIfST
A 96 sqm 96 @if diex
‘ B 48 sqm | 48 @i ey
Ic 112 sqm 112 widfiw
D 24 sqm | 24 @i e
Q.No: 79 Weight of a football player before lockdown was 67Kg. His weight increased by 15Kg during lockdown and then | wifepETET & g TF Gedia &t 1 aoM 67 feamm
-No: he lost one fourth of his total weight by exercise What is his final weight? qo BT UF T a5 A1 &F gRT S faar, ar 3aasr
A 24 Kg 600g | 24 faselt 600 T
B 61 Kg 5009 61 feium 500 T
c 42Kg 300 g 42 fissiam 300 T
D 50 Kg 400 g | 50 feitamT 400 7T
The base of a solid right prism is a triangle whose sides are 9 cm, 12 cm and 15 cm. The height of the prism is | T 31 @/ fisH T 3R T& Byt 2 ol et 9 @
Q.No: 80 , . . :
5 c¢cm. What is the total surface area (in square cm) of the prism? Swd (gt At ®) fasam &2
A 186 186
B 182 l182
c 276 276
D 288 288
‘Q.No: 81 Which of the following is the numerical coefficient of pliq!!? frfafaa @ & =i @ pliql! @ g
‘ A pl! ‘ pit
B 1 1
‘c qit ‘ qit
D 0 lo
‘Q.No: 82 | The solution of the equation 3(3x - 4) - 2(4x - 5) = 8 is: ‘Wﬂ 3(3x - 4) - 2(4x - 5) = 8 T & &:-
A 7 |7
B 10 10
c E
D 8
Q.No: 83| The zeroes of the quadratic polynomial x2+9x + 18 are: ﬁ‘iﬂa qdguc x2+9x + 18 %W %
A 3,6 -3,6
B -4, -5 -4,-5
c -3,-6 -3,-6
D 4,5 4,5
The difference between the areas of two squares drawn on two-line segments of different lengths is | A TaTS & &l YOGSl W Wi 7
Q.No: 84| 40 cm?. What is the length of the greater line segment if one 1s longer than the other by 2 cm? It s dare a:%'?am s D
A 11 cm 11 3t
B 9 cm o ¥t
(o} 5cm 5 A
‘ D 6 cm 6 A
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|Q.No: 85

|Q.No: 86
|A
B
c
)

Q.No: 87

|Q.No: 88
A
B
c
D

Q.No: 89

A

|C

Q.No: 90

|Q.No: 91
A
B

How many pair(s) of x and y satisfy the equations 4x + 6y = 16 and 6x + 9y = 24?

What can be added to the sum of 4660, 4046, 6640, 6046 and 6404 to get 31802?
4406 + 0010
1040 + 3406
6040 - 1440
4040 - 0034

A green packet of chips costs 5 rupees 20 paisa and a blue packet of chips costs 6 rupees 85 paisa. If Rohan
buys 22 blue packets and 49 green packets and he gave 500 rupees to the shopkeeper, then the shopkeeper
returned to him.

Which of the following options will fill the given blank correctly?

94 Rupees 50 Paisa
405 Rupees 50 Paisa
105 Rupees 5 Paisa

345 Rupees 5 Paisa

Find the value of (ax +by) — 6ax + 11by.
5ax - 12by

-5ax + 12by

S5ax + 12by

-5ax - 12by

The product of the zeroes of the cubic polynomial py3 + qy2+ ry + s is:

-r/p
-s/p
-a/p
t/p

Which of the following statement is true?

‘I. Sum of 1212, 334 and 298 is 1834.

II. When the sum of 912 and 445 is subtracted from 1366, then the resultant is 9.
III. Sum of 339 and 185 is 16 more than the sum of 96 and 412.

| Only II

‘ Only I and II

All I, IT and III

Only II and III

How many pairs of x and y satisfy the equations 6x + 5y = 16 and 8x + 7y = 22?
3
1

‘xSﬁTyﬂiﬁﬂ'}gm4x+6y=16?r€n6x+9y=2
2
1
0

| 31802 Wit @ & g 4660, 4046, 6640, 6046 3
| 4406 + 0010

1040 + 3406
| 6040 - 1440

4040 - 0034

mmawq;cfﬁmﬁfaﬁzﬁaﬁ
e % ves & 91 & Ybe T e 5 v9 20 W 3k fow
e Tear & 3R 500 F9Y GHMAR Bl 4T &, @GP

\

Frfafad § & Bi-a1 fee g 7y Raw weom & a8
94 ¥1% 50 9

405 ¥3 50

105 ¥03 5 Ry

345 ¥ 5T

(ax +by) - 6ax + 11by 1 AT 3 Bl
‘ 5ax - 12by

-5ax + 12by

‘ 5ax + 12by

-5ax - 12by

T §gUT py? + qy2 + ry + s B LD

-r/p
-s/p
-a/p
r/p

fFrAfafea & ¥ S w1 s I 8?2

1. 1212, 334 3iR 298 &7 ANTHA 1834

I1. 59 1366 ¥ A 912 3R 445 TT IMwHd BT Her™T ST1a
I11. 339 3iR 185 &7 A 96 3R 412 & INTH JF 1
Fae 11

aet I 3R II

Wit 1, 11 3k 11T

&aer I 3R 111

|x 3Ry & fba g 6x + 5y = 16 M 8X + 7y = 2
'3
1
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D 0 o

Q.No: 92| If X% + px + 12 = (x+3)(x+4) for all p, then find the value of p+1. gfe x2+ px + 12 = (x+3)(x+4) Taft p i
A 6 6

B 8 8

}c 5 ‘ 5

‘D 7 \ 7

‘ Q.No: 93 | If the median of the odd numbers lying between 4 and 29 is m. then (m?—m)?3 is equal to ‘ e 4 3% 29 & i & Rarg faus Swanii &
A 92 92

B 16 ‘ b

c 12 12

D 80 80

T e R ey et e

1Q.No: 94 | Ratio of volumes of two cones is 3: 2 and ratio of radii of their bases is 1: 3. Find the ratio of their heights. E 2igp3tt F 3T BT AIAE 3 1 2 ¢ 3R 3T ITUR B
A 27:8 27:8
B 3:2 |3:2

o} 27: 2 27: 2

D 9:4 9:4

1Q.No: 95 | The value of k for which the system of equation kx+2y =5, 3x+y =1 has no solution, is: ‘3x +y = 1 FHEROT kx + 2y = 5 BT PIE & 16
A 5 ' 5

B 6 6

. :

o ;

‘Q.No: % ﬁ]al;zla::[:;zrs;;nsggigﬂfe digits which are even numbers (repeating digits must be considered only once) ‘W 788934754 % 37 @A 35F 3 FTmer Y o B
A 14 7 |14

B 13 A 113

c 15 15

D 12 12

Three chocolates, Four biscuits and five cakes cost Rs. 34. Six chocolates and eight biscuits cost Rs. 38. Find | @ dideie, TR fawgpe 3iR Ui & Bt HiHa 34 5. 81 &

‘Q'NO: 97 ‘the cost of each cake (in Rs.) el
A a 6
B s ;
C 3 3
D L 4

-2 3R 5 % B A QB! T gl T HET &

‘Q.No: 98 | The number of polynomials having zeroes as -2 and 5 is:

A 3 3
B 2 2
fs 1 1
D More than 3 3 J afis
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Q.No: 99 | Simplify: (

Q.No: 100 ‘If the sum of the edges of a cube is 60 cm, then what will be the volume (in cubic cm) of the cube?

A

U 0O w

Q.No: 101 ‘If the sum of the edges of a cube is 48 cm, then what will be the volume (in cubic cm) of the cube?

A

B
C
D

Q.No: 102

o 0 w P>

Q.No: 103

1126
125
56

264

111)+<2+T6T))

11

1/11

2/11

T B & fERY 1 v 60 At § &Y v @1 e (2
126

125

56

264

| v 77 ¥ fBART @1 AT 48 At R AY T BT 3gaT (B

125 125
‘ 225 | 225
64 64
|81 81
A thread is tied around a cylindrical vessel in five rounds such that after the last round. the both ends T ACTATRR Felet & TRT I TH 1
of the thread meet. Considering the diameter of cylinder to be 4cm. the total length of thread wrapped €3y & &=t QY 399 & Ao %l aoleT &
is___ mm. A FRR
0.2 0.2
0.4 0.4
0.8 0.8
120 20

Neerav, Vijay and Mukesh went for shopping in a nearby
mall. The flyers above shirts, ties and pants corner says, take 2
for Rs. 200, 3 for Rs. 150 and 4 for Rs. 800 respectively.

Neerav 10 shirt. 6 tie. 4 pants
Vijay 6 shirt, 3 tie, 2 pants
Mukesh | 8 shirt. 1 tie, 1 pants

Amount paid by Vijay is less than Neerav but greater than

Mukesh

Amount paid by Neerav is less than Vijay but greater than

Mukesh

Neerav

Study the given table above and choose the correct answer.

Amount paid by Mukesh is less than Vijay but greater
than Neerav

Amount paid by Vijay and mukesh together is less than

Hra, faera 3ik el Fee & Ue Al 7 AT B 18 &) o, ord 3R ¥e & R & FW &1 wRR (a7 g

dRa |10 € sS4 de
e |sec.3as 2 e
AFY |seAc.1T5. 18T

FR G ¢ AfeinT BT 3z BT 3R T IR B T97 A

‘gﬂi&rmmﬁﬁn@mﬁrﬁmﬁmﬁﬁﬁm#m%

forora gRT YA B 7 yARfr e J F, Wi g F afie #

AT gRT YA Bt 7 weRIfRT foora [ F, Aft aber I aifie #

‘Wmﬂﬁmﬁhg%&rmwﬁnémﬁﬂwamﬁ

Q.No: 104 ‘Which of the following is an example of the quadratic polynomial?

A

(@]

‘9x +4

X +4x3-

9

‘ None of the given options

3x%2+x

-1

| e ¥ & P e agaE T FaTeRer 82
‘x+4x3- 9

lox +4

o e fawet o & B A

3x2+x-1
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Five years ago the age of father was 5 times the age of his son. T AT e AT B 39 3B 9 Y 37 B 5 AT o
Q.No: 105

Presently the age of father is 3 times the age of his son. Find the present age of son. A o o B 37 IS R B I B 3 AR RN T
A |16 |16
B |12 [12
[+ 10 10
D |18 |18
Q.No: 106 Find the difference between the sun'ln of 2 exterior angles and the sum of 3 interior angles of a regular - T 3 2 SR 5 2T AR 3 SE B A &
hexagon and choose the correct option. &S
A ‘Obtained angle is Right angle ‘Waﬁwmvr%
B Obtained angle is Reflex angle I Yot Wfdadl Bl &
C ‘ Obtained angle is Obtuse angle ‘mﬁrﬂﬁw 31firp BIoT &
D ‘ Obtained angle is Acute angle ‘Wiﬁw?{aaﬁwé
Fora.u part}l, few ballo.on.s are ﬁllef:l up wiFh air pump.. A big size baIIoYJn is inflate.d \.Nith 8x ti{nes pur:nping, a ‘Wq'lﬁﬁ?ﬁﬂ', 7o 3 g T ST 31 7
Q.No: 107 medium size balloon is inflated with 5x times pumping and a small size balloon is inflated with 2x times Y& 5x 9 dT gRT ST 3 O B
E:Irlr;zu:sg. Then find the value of x if 1940 times pumping is required to fill 90 big, 30 medium, and 50 small 50 B 'aﬂuﬁ?}?f@m& 1940 TR GféfT B e
A 7 |7
B 4 4
C ‘ None of the given option 1&?Wﬁﬂﬁq‘fﬁﬁaﬁiﬂ§f
D 2 2
Find the range of speed of bike (in km/s), if a person rides it at speeds given below: afg ¢ afarr Fa & 1€ vfd A g1 Terar 8, ay ITh
Q.No: 108
0.34, 0.76, 2.48, 3.45, 0.19, 4.43, 2.35, 2.69 0.34, 0.76, 2.48, 3.45, 0.19, 4.43, 2.35, 2.69
A 4.46 4.46
B 4.43 4.43
c 2.35 |2.35
D 4.24 4.24
There is a rectangular plain of 20 m in length and 40 m in width, in the middle of the parallel field there is a |20 Hiex Trams 3R 40 Hiex AlgTé &1 Ue JaTeR Her
2m wide road, then the area of the road is: HIfSa?
J =¥
- 20 = 20
Q.No: 109
2 2
30 <40
A 140 m? 140 m?
B ‘ 280 m? 280 m?2
c 116 m? 116 m?
D ‘ 300 m? 300 m?2
A wire is bent in the form of a square and encloses an area of 576 sq.cm. What will be the enclosed area when | T& TR @Y T @if % w ¥ HigT a7 2 S 576 af It &
Q.No: 110 PN . )
the same wire is bent into the form of a circle? gReg & T grm?
A 340.65 cm? 340.65 cm?
B 125.56 cm? 125.56 cm?
C 733.09 cm? 733.09 cm?

D ‘ 510.56 cm? 510.56 cm?
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Choose the correct pair:

A | Perfect Number I 3.141592
Q.No: 111 | B[ Complex Number | 1I | 496
C [ Cyelic Number I | 142531
D | Irrational Number | IV | 142857
A | A-I1, B-III, C-I, D-1V
B A-II, B-1V, C-III, D-I
C ‘A-III, B-II, C-1V, D-I
D A-II, B-III, C-1V, D-I

The sum of P and Q. when subtracted from product of Q and R. gives ax3— (a +9)x*— 7x +a+ L. If
Q.No: 112/ p Qand R is equal to 637 — 3x.2x + 3 and x*— 4x +2 respectively. then value of 'a' is

s
3

U 0O W >

Q.No: 113 ‘ Find the number which when multiplied by 13 is increased by 180 :

A 15
B s
c 12
D |25

Q.No: 114 ‘ If a and x are real numbers satisfying a¥~! = a?** 1 find x (a>1)

A 2
B 1
c -1
D |2

Q.No: 115 ‘The ratio of area of two circles are in the ratio 36 : 49, then what is the ratio of their diameters?

A |6:49

B |2:3 :
C 6:7

D 81136

PQRS is a cyclic Quadrilateral. two tangent from point A is drawn at point P and R. If ZPAR=
Q.No: 116 | 8g°,Find £PSR: £PQR.

A 23:67
B 20: 16
c 7:2

D 22:23

Q.No: 117 ‘The relationship between Mathematics in the Society is all the following except
A ‘ Mathematics enables us to understand the inter-relations of individuals in a society.

B Mathematics hampers the functioning of society.

e g I
e — T 3131592
wiEasEear | 1| 496
e—— ) I EERET
e e | 1Y) 14285

o O W »

A-II, B-III, C-I, D-IV
A-II, B-1V, C-III, D-I
A-III, B-II, C-1V, D-I

A-II, B-III, C-1V, D-1

Q 3R R & IUEGS Y € A WP 3 Q
REA: 6x2— 3x. 2x+ 3 AR - 4x +2F N

N = W u

95 HEAT F1q HISY 7 13 F oM & R 180 F
15

5

12

|25

e a 3R x areafas g et as-1 =,

-2
1
-1

mnewqrqgfffmﬁaﬁﬁarj
< I &b Bl BT 3T 36 ¢ 49 F| I AN B I
6:49
2:3
6:7
81:36

PQRS U THRI I3t &1 fag A . fagp 3
@Y £PSR : £PQR AT HISTA|

23:67
29:16

17:2

|22:23

FuTe B fvia & g A9y, Frefcfaa & afafea o &
TfoTa g ST X efaal B i B wanem ¥ wem s

O WHIST & BIH-BIST § T STeram
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Q.No: 118

o 0O W P

o 0 w >

‘ Mathematics helps society to balance and counterbalance the various social forces.

‘ Mathematics plays an important role to organize and maintain the structure of our society.

Sum of which of the two fractions is maximum?

3 7 43 13
a=iB=lc=2p=2
3 9 45 15

AandB
‘BandD
‘Aandc

CandD

TAR JHIST B IREAT B Faferd 3R a7 @1 & fag 1

|2 i X forrept A A 82

A=ip=lc=Ep=2
S 9 45 15

A3RB

B3R D

A3RC

c3kD

The ratio of height and radius of a cylinder is 3:2. If the volume of the cylinder is 120007, then ‘ T 0 &1 Herd IR e &1 o 3 -
Q.No: 119 what is the radius of the cylinder?

‘ 10 cm
21cm
|30 cm
20 cm

A cylindrical treasure box has been closed with a hemispherical cap at the

FATR:

10 ¥t
21 4
|30 3@
20 It

Q.No: 120 | top. If radius of the base of treasure box is 0.3 m and height of the cylinder | 7% JaIBR fasiNt ara Qi W & snfieer 2t & 4 31 afe At afes & 3mIR & foisar

Q.No: 121

O 0O w >

Q.No: 122

A
B
C
D

Q.No: 123 ‘ Choose the correct option for A XYZ and A MNP.

A

C

D

is 1m, then the total volume of the box is

‘ 0.018 wm?3
‘Q%lnm3
0.810 7 m?

0.108 T m?

y = 8x + 25
y=8x+17
‘y=5x+9
‘y=5x+15

0.018 7 HieT
0.801 7t Hiezs
0.810 7 Hiew
0.108 x Hrex:

A cab charges Rs.25 for first kilometer and Rs.8 each for every subsequent kilometer. For a distance
of x km, a amount of Rs. y is paid. The linear equation for this information is:

Mohan gets 3 marks for each correct sum and loses 2 marks for each wrong sum. He attempts 30

sum and obtains 40 marks. The number of sum solved correctly is:

10
20
15

|25

‘ If YZ = NP. ZX=PM and XY=MN then AYZX = AMPN

All are correct

If ZX =PM. YX=NM and YZ=NP then AZXY = APMN

‘ If MN = XY. NP=YZ and PM=ZX then AXZY & ANPM

T el Uged febeiTeiieR o ol 25 0 3R yediep 311
FU B A BT YT fFar Sar §1 59 STHER &

y=8x+ 25
y=8x+ 17
y=5x+9
ly=5x+15

mnaamq?ﬁmﬁaﬂﬁar}

AT BT IS Fe 9aTd & 3 3 3R Tod Jard &
10
20
15
25

mwﬁq’tqgfﬁmﬁraﬁzﬁaﬂ
AXYZ IRAMNP & fOT 9§ fawew &1 9

I YZ=NP. ZX = PM 3R XY = MN §. dna

oitaad
Ife ZX=PM. YX=NM3R vZ=NP&. @

gfg MN =XY. NP=YZ 3R PM=2zX §. 4
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Weight of a bag having some items in it is 70Kg. If the bag owner bought some rice for a total of Rs. 300 at
Q.No: 124 |Rs. 60/Kg and the bag also has some dairy products weighing 23Kg worth Rs. 500 and a few more items in it,
then find the weight of bag unoccupied by dairy products and rice.

A |24 kg
B 75 kg
C 60 kg
D 42kg

Q.No: 125 ‘If the discriminant of a quadratic polynomial, D < 0, then the polynomial has:

A imaginary roots

B ‘two real and unequal roots
C ‘two real and equal roots

D ‘no roots

Solve the following equations for x.
Q.No: 126
6x-27+3x=4+9-x

A a
B -4
c 5
D 6

| 5 gt arer 3 T A 70 Feu 1 A A 3 i
BT a1 % FB A 3me Wt €, SFET 7w 500 T
E3iE]

24 fm
75 four
60 famr
42 f&m

IfE vo fgama agug @ fafdawas (discriminant), D <
Freafis g

Qr arafae 3R 3RWE g\
@Y arfass 3T WA e
Ed

| x & o7 et @il
6x-27+3x=4+9-x
a4

-4

The length and breadth of a rectangular field is in the ratio of 3:2. If the area of the field is 1350 m2,

Q.No: 127 then the cost of fencing it at Rs. 30/m will be:

A Rs. 5240
B Rs. 4000
c Rs. 4500
D Rs. 5680

Q.No: 128 ‘The side of a square is increased by 13.6% then it's area is increased by :

A |28.54%
B 29.64%
c 29.04%
D 129.84%

Q.No: 129 ‘A quadratic polynomial, whose zeroes are -3 and 8, is:

A ‘ X2 +5x + 24
B x2—5x + 24
c x2—5x-24
x2 X
D) -(%)- 24
NN
No: 130 The ratio between the present ages of Ram and Alok is 6:7. If Alok is 4 years old than Ram, what will be the
Q.No: ratio of the ages of Ram and Alok after 4 years?
A 5:8
B 6:8
C 7:8
D 5:6

TP NAATRR e B darg 31k <terd 3:2 %
R Y TFH I8 AN B AT &

| 5240 37
| 4000wt
4500 T
5680 T

T &t B ST F 13.6% B gig gt 2, @ 59 amhe
28.54%
29.64%
29.04%

29.84%

v fema ague, o o -3 3R 8 €, &:

x2+5x + 24
x2—5x + 24
x2—5x-24

(5)- ()- 2

|71 31 3Telis Y adHT 3G T I 6: 7 Bl Ak o
T B

5:8
6:8
7:8
5:6
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“‘:I::elzgl;tt: Ice)i\;ztaictangular board is 5 times that of its breadth. If the area of the board is 125 square meters, - aYé B e, 3 e B 5 2 AR

X

Q.No: 131 | X

5x 5%
A 25m 25 Hdiew
B 8m 8 Hiw
e |24m 24 e
D |16 m 16 7w
Q.No: 132 ‘If x =2/9,y =3/4,z=4/nand 1/ (3xz + y - 2zy) = 12, then find the value of n. ‘Uﬁ: x=2/9,y=3/4,z=4/n3R1/ 3xz+y-.
A 5 5
B |9 9
(o} 7 7
D |2 2

i:etr;i:ﬂ\;znpfai?;re, AOBCA represents a quadrant of a circle of radius 8 cm with center O. What is the area of 2 R 4, AOBCA &g O % wrer fisar 8 3t 3 @

B
Q.No: 133 C/————m
2 cm

A O A °
A ‘ 8 cm? 8 @i
B ‘ 6.45 cm? 6.45 i
c 42.24 cm? 42.24 i
b 865 om? 8.65 2
Q.No: 134 If a child is experiencing sadness/ irritability for most of the time of day and loss of interest in pleasurable A BIE gear i & srfawier auy 3R/ fAefigmm &

R activities for two weeks may have? 2, @ T B FhdT 8?7

A ‘ Separation anxiety GererpRoT feier
B Conversion disorder Ui fahR
C Specific phobia fafere war
D Depression 3AHEIE
Q.No: 135 ‘ Which of the following is a prosocial behaviour? ‘ﬁQﬁﬁfﬁ{ ¥ ¥ PH-I1 T IS HIeR &7
A Altruism WRIgeIfREr
B \ Lying ‘Q\Km
C ‘ Cheating \u’nm
D ‘Judgement | urT
Q.No: 136 ‘ Which of the following is not true about Stanford-Binet Intelligence Scale? FrafafEa ¥ § S B RAwE - 7 gfg o (2
A Its administration involves four stages. TP HAHA & TR TRT et &1
B ‘ Now we have the fourth edition of Stanford-Binet (S-B IV) scale. 39 TR U RABIS - 9 i Ao (qa-dt Iv) T
C ‘ The test developed by Binet and Simon for the children. o 31k wrgAe g faefia 3 uRRerr et & @y g9
D It has 15 tests selected to represent four major cognitive areas: verbal reasoning, abstract/visual WY IR W @ VFFE &A1 &1 Hfafifa A & fag

reasoning, quantitative reasoning, and short-term memory. AFIBIfeis Ffel
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Q.No: 137 ‘ Emile by Jean Jacques Rousseau is also known as -

A ‘ Development of childhood

B ‘ Reconstruction of education
C Freedom of Adolescence

D Charter of childhood

Q.No: 138 ‘Which of the following is a part of the Law of Effect given by Thorndike?
A person varies or changes his/her response till an appropriate behaviour is

A succeeded.

B Acts leading to satisfaction becomes associated with that situation.

c Repeated exercising of a response strengthens its connection with the stimulus and disuse
weakens it.

D When any conduction unit is ready to conduct, for it to do so is satisfying.

What should parents do regularly to keep track if their adolescent children have fallen prey to substance-
abuse?

Q.No: 139 1.Take account of pocket-money spent by the children.
2.Never leave the children out of their sight at all.

Choose the correct code -

A ‘only 2

B Only 1

C Both 1 and 2

D ‘Neither 1 nor 2

Q.No: 140 Persons high on which of the following aspects integrate different experiences in an original way to make new
discoveries and inventions?

A ‘ Performance Sub-Theory

B Experimental Sub-Theory

C ‘Componential Sub-Theory

D ‘Contextual Sub-Theory

Which of the following is the best way to avoid propagation of gender stereotypes in classroom?
I. Pick stories that reflect and comment positively and equally on all genders.

Q.No: 141
II. Put students into mix-gendered learning groups to ensure cross gender friendships.

II1. Select stories for classroom discussion that affirm gender stereotypes.

A Both IT and III
B Only 111

C ‘only IT

D

Both I and II

Q.No: 142 ‘Community environment is related to,

A ‘ Elimate
B Society
Cc ‘Land

D ‘ Water

Q.No: 143 ‘Which of the following is related with teaching skill?

A ‘ Solving questions

ST St Y gRT e Y CRoon: gt
e B fasr

TRl @1 gAffafor
fepeNRTeReT Y rdsrar
Eeeckageipuied

FAfAfEa § & P9 areEe gR &y T e & fam
T 39T AGER B B d o afan 31t wfdfis

w1 g e & RO § Wi, Y& AT FHaT 9 §
Fe Y fibam BT aR-AR Qe S At a8 st W

STq DY WaEA 3HTE Hagd F o) (AR AR a9 35

1
:A'd?fr{:ﬂrtlw;xh’fJ

| 37 iR 9= ATee gt & Jad & PR 8 My € B
1. gt g @ T Y ok T R #)

2.9t B Tt Y 3BT ToRT A 31T 7 B

| g -

e 1

Had 1

M1 3R 2

Far 1 ka2

FAfafEd § & fog veq W 3= 73 @ ard @ fame
BT MfapR Fa 87

‘ﬁunawstrﬁmﬁ
AHfaE Iufdgia
et Fufigta
|<iafifes Fufigia

wa ¥ o Biearfear & TR & a9 BT A 78T adeT
1.0 FRrfAat o1 997 BT S At e R Heriers 3R
11, e fo 5t GfeRm @ % g fRenfera o ffie-f
I11. Tem & =t & forg Wit weral @1 e =t o ifii
II 3R III A1 '
Faet 111

Fae 11

I 3k 11 AT

| Freafeif # & e e Phere Wit 22
| R Y G
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B ‘Asking questions \m:rq\mr
C ‘ Black-board writing ‘ﬁﬂ? qT AET
All of the given options o v Wit feea
Q.No: 144 ‘Who was the first Governor of Madhya Pradesh? T T2l & VT ISIYTS i A2
A Kailash Joshi Srerrer wivef
B Dr. Shankar dayal sharma =T 27 =T emf
(o} B. P. Sitaramayya .ot dariter
D ‘ P. Ravishankar shukla ot IfaRiE QT
Q.No: 145 ‘ What does CRC stand for in computer parlance? FRIR Yol # CRC T 37f 7 82
A Cycle Reducing Cycle Cycle Reducing Cycle
B ‘ Cyclic Redundancy Cycle ‘ Cyclic Redundancy Cycle
C ‘Circle Redundant Circle Circle Redundant Circle
D Cyclic Redundancy Check Cyclic Redundancy Check
Q.No: 146 ‘ When does Anti-Tobacco Day celebrated? | e faRndt féa o wATa ST €2
A May 31 31w
B ‘June 29 29 5
c | April 28 EZEC
D |March 30 ‘30 W
Q.No: 147 ‘ Which of the following is India's largest and oldest business organisation in India? | FAfafEd ¥ & WRd &1 999 997 3R F99 AT Amiie
A ‘India Inc. p S 7 y f$a1 §% (India Inc.)
B ‘BCer dRiteitag (BCCI)
c SEBI ¥R (SEBI)
D FICCI TEaEAdtag (FICCT)
Q.No: 148 ‘X is the husband of P. P is the daughter of A and B. B is the father of P. How A is related to B? X, P& Ufd &1 P, A 3ik B & Tt 81 B, P &1 fUar 81
A ‘ Father foar
B Son e
C ‘ Husband ufad
D Wife Tt
Find the related word fror;;l the given élternatives. g g famed & Hefia ereg &1 T8 B
Q.No: 149
Pen : Write Had : ferear
A Knife : Cut G : BT
B ‘Nib : Pencil ‘R’lﬂ;ﬁﬁﬁ
C ‘Car : Sitting ‘?FR : do5
D ‘Scholar : Book ‘ﬁm’—[ : GRS
Q.No: 150 ;{Ic;vr\]lerr;agr: ::;a;!a;ziizzse;re obtained by making two cuts in X plane and three cuts in a perpendicular o & TR X A & & we ik v T A Y a8 B
A 16 16
B 12 12
C 6 6
D o 9
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